= o
N & o & AF & H A A
20158 & =04 LBHSIH A2 M=
AN AZHSD
M WHO A2 E Al JIEXH
el AYTA HM N U 2 CERED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
AL s 12,633,377 12,627,951 5,426
Xl 240,000
J| 355,693
< 2,021,585
Al 10,016,099
WHO A2 S Al D& X & 617,040 598,040 19,000
AL A B e & =249 146,040 128,040 18,000
WHO A2 & Al =& 20,340 47,340 A 27,000
201 Let24dH] 13,500 15,500 A 2,000
01 At 22/l 10,700 12,700 A 2,000
O1 gt=2Hl 7,200
DHLZA SN 2 HE=
50,0003 «102! %23 1,000
DU HZTA ZE - AEZXY &t S5
gl 100,000 *3021 x4 3] 1,200
DAL Al EES M= 10,000& *500H 5,000
O3 2d==¢ 3,500
DA Al A2 S
70,0003 252123 3,500
02 =224l 2,800 2,800 0
O1 22232 % HMA 2,800
DWHO MEHE XS A2 Al HE A3l
800,000& x 13| 800
DOstel s A2 A 2s A3l
2,000,000& x13l 2,000
202 oddl 6,840 6,840 0
01 = LH o4 1l 6,840 6,840 0
OAHLZA SR2F& 570,000& 128 6,840
HALEA SEMY =& 20,700 30,700 A 10,000
201 Let249] 700 700 0
01 At 22l 700 700 0
O3 2d=¢ 700
DAARIREE SHE 70,000& 521 x23] 700
307 21201 A 20,000 30,000 A 10,000
02 HIAFAAFEX 20,000 30,000 210,000
OAHLZA S2AY =& 20,000,000& x14 20,000
A Ao & JE2NE 80,000 50,000 30,000
307 gl2tol & 80,000 50,000 30,000
04 DIZHHALALSE E X 80,000 50,000 30,000
ORFAL HLo YOIISZNE)
80,000,000& =14 80,000




AN AZHSD
M WHO A2 E Al JIEXH
Chel HUGCA BM Y W 2 (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2FAQ A2 L (AL=H) 25,000 0 25,000
307 2I2+0 & 25,000 0 25,000
04 QIZFHALAIH E = 25,000 0 25,000
QAL A2 L(ALEH)
25,000,000& =14 25,000
izs+ =4 371,000 370,000 1,000
o) Z2E X 125,000 125,000 0
307 21201 A 125,000 125,000 0
04 DIZHHALALSE E X 125,000 125,000 0
OZzs7 2yl N 125,000, 00021 14! 125,000
H2s7 2Y) AKX 160,000 160,000 0
307 2I2+0 & 160,000 160,000 0
04 DI2HHALALSE E X 160,000 160,000 0
OZzs+ 827 MK
160,000, 000& * 14 160,000
Is7 HIHZ2ZE 2SsdAMXA 70,000 70,000 0
307 gl2tol & 70,000 70,000 0
04 DIZHHALALSE E X 70,000 70,000 0
Onzs JIAZENE RSHUMKE
70,000,000& =14 70,000
d4ad HE=s7BE 29 16,000 15,000 1,000
201 2et24d] 1,000 0 1,000
01 At 22l 1,000 0 1,000
o6 Itz 1,000
PRid s2UE E S
1,000,000& 14 1,000
307 glz2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
O&dA4E HE=7LE 229 15,000,000 * 14 15,000
ANYUALSE 100,000 100,000 0
2os (A e )dH 2% 100,000 100,000 0
307 glz2tol & 100,000 100,000 0
02 IZtEMAMHEE 100,000 100,000 0
OEMAHL2SSIHE 28 X2
100,000, 000& * 14! 100,000
MM S& 43 5,160,638 5,026,520 134,118
J| 235,693
S 30,585
Al 4,894,360
HdEMSESY 3,462,412 3,243,994 218,418
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SN ASHSD
M ANMESELS
tel: dEHssH
SA BB O () - NRAY - HES 0l &+ o4 il
Oagg &= oAb 694,144
DIIEZ(S0H, 72 1258 &Y)
2,405,500 «1521 x12& 432,990
DAEIZSH 2,405,500& 1521 %50/100+2 & 36,083
> HE SOt 2,405,500 1521 «60/100%2 & 43,299
DEESY 350,000 *1521 x12& 63,000
> ==l 50,000 =152 x12& 9,000
> = Al 250,000& x 1521 x12& 45,000
DNEBEE 629,372,000& *1.5% 9,441
DAUMNEEZ 629,372,000 *1. 1% 6,924
DICHLEER 629,372,000& *2.995% 18,850
PEIRAEER 18,850, 000& *6.55% 1,235
>DICHZEER 629,372,000& x4 .5% 28,322
O=3JtE =% 400,000 #5021 x12& 24,000
Ozl sdH(YT , 4, 24)
50,0008 x2101 x5 *83] 42,000
ORXEBHI (AE, 4, =4)
50,0003 *2121+10L 23] 21,000
ONHBHR(AE B4, =)
80,0003 x2121 x12& 20,160
O=uls Zz&3 15,000, 000& 14! 15,000
O3MUa Z&3 15,000, 000& =14 15,000
O dt &4ZHl 120,000 +35=+128 4,320
Oa e A3yl 6,000
DEtaAASTAHW HAZH 2,000,000 14 2,000
DEtIAIFAHAN ASIH 2,000,000 14 2,000
Det=AA=SAAN HAZH 2,000,000 14 2,000
O&gE I=l 53,780
DHES(IE,S4,54) 250,0009+2121%23] 10,500
DEES 200,000& #2121 %23 8,400
>AJ=s 200,000& 1521 x23| 6,000
>T-H= 65,0003 x2121 %23 2,730
D> g sts 250,000 2121 13| 5,250
>EIS(=A) 200,000 x5021 23] 2,000
>ZIS(EE) 200,000& 521 %23 2,000
DA (S A 400,000 5021 23] 4,000
> a3t 200,000& 2121 x23| 8,400
> EHOI £ 150, 000& x15Q1 23| 4,500
Og e =23HEH 72¢ 22,300
DPEES 3,300,000& 24 6,600
> A 5,000,000& *2X 10,000
D HHE O E 500, 000 & *2JHK 1,000
>ES 150, 000& 521 23| 1,500




2N
X ZH -
L= B

el

MY . B (3H) - NEAY - BAS ofl &k o San HDE2
DR (SA 200,000& *2 L x53| 2,000
DYHE 200,000& =621 1,200
OsMds =29 7,540
> ASHM 2 S O 3,000,000& = 1H 3,000
>2dE 200,000& 5021 x23] 2,000
>OE 100,000& *4 X *23] 800
Dol =010 100, 000& *5JH 23] 1,000
D>OtSA T 15,000& * 12 *33] 540
>uAMBESH 20,000& x50H 23] 200
OMds E8E 5,240
> A 2SI+ 3,000,000& = 1H 3,000
DEAHBE 200, 000& =24 400
DYSAIHE 180, 000& *2H 360
DEEH 50, 000& =24 100
DUHHZAE 300, 000& *3H 900
>gtet ATl 80,000 «2H 160
DIIFAE 80,000& *2H 160
> EtE2IEl EdO0I 80, 000& =21 160
OAE gaZ3 6,000,000& *5Q1 30,000
oIz2tol & 829,880 759,960 69,920
02 AABMANEE X 568,880 543,960 24,920
ONEN= g4 220,000,000 1A 220,000
ONE2M=EXNE (BW=&Hl)
348,880,000& 1A 348,880
03 AU BEEHSA 261,000 216,000 45,000
ONM=EISEAMNP 261,000, 000& 14 261,000
308 XX SHHSOIH 816,800 765,600 51,200
08 WEII2Hst=2 816,800 765,600 51,200
Ox -0 M= st X &
170,000, 000& 14! 170,000
Ox -0 MESXNEZX X
646,800,000 * 14! 646,800
2RO HSUHS 250,000 250,000 0
307 212t0| & 250,000 250,000 0
04 QIZISHALAIE B2 X 250,000 250,000 0
OHMI503 2AE0 =H
250,000,000 1Al 250,000
== 1,488,226 1,579,526 A 91,300
Dl 235,693
& 30,585
Al 1,221,948
FHAF HE L 21,400 40,400 A 19,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
201 L2l 1,000 15,000 A 14,000
01 At 22l 1,000 15,000 214,000

O1 geragy| 1,000
P2AS MEUa =3 S22 M
50,000& 203 1,000
202 odl 16,800 16,800 0
01 24018l 16,800 16,800 0
OJlege+=a8 0l 1,400,000 128 16,800
301 g2 d= 3,600 3,600 0
09 MAAHI 2 &2 3,600 3,600 0
OMEMSX X W0
50,0003 #1221 %3 +23] 3,600

ZRASXAD el S 55,000 60,000 A5,000
307 21201 A 55,000 60,000 25,000
04 DIZHHALALSE E X 55,000 60,000 A5,000

OZJZXAIIUS S 55,000,000 = 14! 55,000

AEAFII(H) SSLHS N3 120,000 120,000 0
307 212+0| & 120,000 120,000 0
04 DI2HHALALSE E X 120,000 120,000 0

02015 FAIEII(HH)ESSLE WS =
120,000, 000& * 14 120,000

2015 Al HEMAME MU OH= 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0

02015 | FAl 2L A HSUHE
20,000,000& =14 20,000

2015 DwHESHM=MHE = 220,000 220,000 0
307 21201 A 220,000 220,000 0
04 QIZFHALAIR B = 220,000 220,000 0

02015 DWAESMSUHS 220,000,000& 14 220,000

M0 =X d=EE U2l N 35,000 35,000 0
307 gl2+tol & 35,000 35,000 0
04 DI2HHALALSE E X 35,000 35,000 0

OHM10&8 JFXItHl =HELE U HA
35,000,000& =14 35,000

Hi1al FAZH &L AHE OH 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0




SN ALHED
M AQHSEAS
chel: MEHSSY (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OHM11a F=AEH E=ZHUL AU W=l
35,000,000 = 1A! 35,000
H11g FAIEH Z2R_EEHEH=ZEU3 HE 15,000 30,000 A 15,000
307 2iz2to| A 15,000 30,000 A 15,000
04 QIZ2tSHAFAFS B X 15,000 30,000 A 15,000
OHM11a FAEH 2L EH2 U HE
15,000, 000 = 1Al 15,000
Mg JFX L =WHZAUE i = 35,000 35,000 0
307 2Iz2t0| & 35,000 35,000 0
04 SIZ2ISHAAISH E & 35,000 35,000 0
OHMB83l |F=Xd 2 HZEAUS HE
35,000,000& = 14! 35,000
M6s SFAIEH E=2SEHE i = 10,000 10,000 0
307 212t0| & 10,000 10,000 0]
04 CIZ2HSHALALS B X 10,000 10,000 0
OM63l FFAIZH M=2ESEHIHE 4=
10,000,000& * 14l 10,000
H138 =X 0tctEH3 WA 35,000 35,000 0
307 QI2t0| ™ 35,000 35,000 0
04 CIZ2tSHALALS B X 35,000 35,000 0
OM133 |=X2 0tctEWHSE H=
35,000,000 x1A! 35,000
H93l Z0lMEH=s 2tXE QLEERUS MHA 12,000 12,000 0
307 giztol A 12,000 12,000 0
04 CIZ2tSHALALSE B X 12,000 12,000 0
OM9sl ZCIMEHE 2tAE QLEEHHE M
ES| 12,000, 000 = 1Al 12,000
M73 XD A=20t2UH3 W= 25,000 25,000 0
307 2iz2to| A 25,000 25,000 0
04 OIZ2tSHALALS B X 25,000 25,000 0
OHM73 XD d=20k2UH3 HAE
25,000,000 = 14! 25,000
73 FEXAASHRH 822203 W= 35,000 35,000 0
307 2Iz2to| A 35,000 35,000 0
04 SIZ2SHAAIH E & 35,000 35,000 0
OM73 |F=XAASH2H F2=Z2U3 =
35,000,000& = 14! 35,000
M58 FAIEH 82203 JH= 35,000 35,000 0
307 212t0| & 35,000 35,000 0
04 SIZ2ISHAAISH E X 35,000 35,000 0




SN ASHSD
M AQHSEAS
ool MERSSY CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHMb53 JFAIEU d=2=32013 M=A
35,000,000 = 1A! 35,000
K73 i =2 0I2tE 3 JH = 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
04 DIZHEHALAFRI B X 5,000 5,000 0
OHM73 si=2A =20t2tEUH 3 =
5,000,000& 14l 5,000
2015 &= X2 =2 =D EHAEUS W= 30,000 30,000 0
307 2Iz2t0| & 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
02015 =2 == B3 W=
30,000,000& = 14! 30,000
2015 2 HQE=E U3 M= 30,000 40,000 A 10,000
307 212t0| & 30,000 40,000 A 10,000
04 CIZ2HSHALALS B X 30,000 40,000 A 10,000
02015 2H 2EZS2 U3 M=
30,000,000& x 14! 30,000
H308 MZMEHESE2AUS 2 M=EEOISOHX 15,000 0 15,000
H =
307 2iz2tol & 15,000 0 15,000
04 QIZ2tSHAFAFS B X 15,000 0 15,000
OM30s d=2MEXNSSAUS &L H2E EHOI
E 0 X 15,000, 000& = 1Al 15,000
2015 2 EFC FFUE i = 50,000 50,000 0
307 2Iz2t0| & 50,000 50,000 0
04 SIZ2HSHAAISHE E & 50,000 50,000 0
02015 2EFC & =03 M=
50,000,000& = 14! 50,000
2015 SEUE FAaEF2U13 4,000 4,000 0
307 QI2t0| & 4,000 4,000 0
04 CIZ2tSHALALS B X 4,000 4,000 0
02015 28U A2=32013 =
4,000,000 x 14! 4,000
Hedsegs N 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
04 CIZ2tSHALALS B X 2,000 2,000 0
Odd=gs XA 2,000,000& x14l 2,000
S3HH AKX 2,000 2,000 0
307 212t0| & 2,000 2,000 0
04 SIZ2ISHAAISH E X 2,000 2,000 0




AN AZHSD
Zu: AHSE S
Sl MEUSSY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsstHl X& 2,000,000& =14 2,000
NHUHEET AL E+ N2 7,000 0 7,000
402 RI2HX20l M 7,000 0 7,000
01 A TtEAEEX 7,000 0 7,000
ONUSHT LeAL 24 N
7,000,000& » 14! 7,000
olsgHE 29 K& 4,000 0 4,000
307 glz2+0l & 4,000 0 4,000
02 HAFHANGEEE 4,000 0 4,000
OosdEHzE 29 XN& 4,000,000& =14 4,000
HMOEE AlE X 18,000 18,000 0
401 AIEHI L 20 18,000 18,000 0
01 A& Bl 18,000 18,000 0
OMME ANE XA 18,000,000& 14! 18,000
ZESXADI(B)HE &8 X2 57,000 57,000 0
307 gl2tol & 57,000 57,000 0
04 DIZHHALALSE E X 57,000 57,000 0
OZJATXIAII(H) e &d K&
57,000,000& =14 57,000
24 AHoE=USE & N 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Ooz4 AHolE=tHa &8 XA
10,000,000 * 14 10,000
H23sl UMM sUH =8 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
OHN23s ZEECMEHsUH &
80,000,000 » 14! 80,000
2015 ZRAEH2 MM EXN =S &=H 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
02015 2o MENsUHs =8
15,000, 000& 14 15,000
M24s Z2AM0Ict=EHe & 5,000 10,000 A5,000
307 glz2+ol & 5,000 10,000 A5,000
04 DI2HHALAISE E X 5,000 10,000 25,000
OHM24s| LA AHOIUEUS &2
5,000,000 =14l 5,000




A HdZH=H
M AQHSEAS
ool MERSSY CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AZX Ol2d AIY 123,900 109, 200 14,700
J| 86,730
< 18,585
Al 18,585
301 LBt A= 123,900 109, 200 14,700
J| 86,730
< 18,585
Al 18,585
01 Al E & A 462 123,900 109, 200 14,700
OAEZXBISHALS 123,900,000 * 14! 123,900
J| 86,730
o= 18,585
Al 18,585
NEce MEtd s X EX Ui XA 194,304 194,304 0
J| 97,152
Al 97,152
307 QI2t0| ™ 194,304 194,304 0
J| 97,152
Al 97,152
02 QI2tAMAIE E X 194,304 194,304 0
OMEME KA BHXIAFS 194,304,000 = 14! 194,304
J| 97,152
Al 97,152
24 dMsgEs XN (KNS X B 97,152 97,152 0
9] 48,576
Al 48,576
307 2Iz2t0| & 97,152 97,152 0
9] 48,576
Al 48,576
02 DIZHA AAIE E X 97,152 97,152 0
OWEd M=egs XN 97,152,000 = 1A! 97,152
J| 48 576
Al 48 576
MEH=RS 2 6,470 6,470 0
J| 3,235
Al 3,235
307 gizto| A 6,470 6,470 0
J| 3,235
Al 3,235
02 QIZ2IA AAIE E X 6,470 6,470 0
OMetx=s 2SN 6,470,000 *14! 6,470
J| 3,235
Al 3,235
MEHEDNAY 24 24,000 22,000 2,000
o= 12,000
Al 12,000




SN AAHS D
Zu: AHSE S
©el: MEHSSY

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 24,000 22,000 2,000
= 12,000
Al 12,000
02 QIZ2HA A A E 24,000 22,000 2,000
OMEY=DA 24,000,000 14! 24,000
= 12,000
Al 12,000
2|2 84 95,000 108,000 A 13,000
H21s F==2HMZIa JH= 70,000 70,000 0
307 QI2t0| & 70,000 70,000 0
04 CIZ2tSHALALS B = 70,000 70,000 0
OHM21g FF==2HMZI1U3 M=l
70,000,000 x1A! 70,000
M3 F=AZZ201E 0= 25,000 38,000 A 13,000
307 gizto| A 25,000 38,000 A 13,000
04 CIZ2tSHALALS B = 25,000 38,000 A 13,000
OHM11e FF=AZI1U3 Al
25,000,000 = 1A! 25,000
e MEesd 115,000 95,000 20,000
0o HE2sid 50,000 40,000 10,000
307 2Iz2tol & 50,000 40,000 10,000
02 QI AAIE E X 50,000 40,000 10,000
OHOMe d2H | & 25,000,000 14l 25,000
OO MEH= &3 A&
25,000,000 14! 25,000
HI83l AAT-ZOHQl A=t 35,000 35,000 0]
307 2izto| A 35,000 35,000 0
04 QIZ2HSHALALESE & 35,000 35,000 0
OHMB8al &&= M=03
35,000,000 = 14! 35,000
SOl AL XSHAL X 30,000 20,000 10,000
307 2Iz2to| & 30,000 20,000 10,000
04 CIZ2ISHAAISH E & 30,000 20,000 10,000
OHOQl AL 30,000,000 x1A! 30,000
HESAEES 6,771,533 6,113,010 658,523
Xl 240,000
J| 120,000
= 1,991,000
Al 4,420,533
ZZ2HSANEE= 100,000 200,000 A 100,000
=22 HHAIE &X 100,000 0 100,000
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X ZH
S =

el

22 H =S o
CHSAEE

=
=)
SSHEAELHS

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=23% UMAE X dALHES
100,000, 000& * 14! 100,000
MEHSAEEHS 2,018,618 4,068,500 A 2,049,882
X 240,000
S 407,000
Al 1,371,618
ST 28 MEMSAE & 301,512 302,160 A 648
401 Al HIZ 201 I 301,512 302,160 A 648
01 A& HI 300,000 300,000 0
OSNSRINeEs MHEMSAE dXNSM(LIE
dl) 300,000,000& 14 300,000
03 AlE 2 THHI 1,512 2,160 A 648
OAZ =t 1,512,000& =14l 1,512
HOIEEE =4 307,692 308,340 A 648
401 Al HIZ 201 8] 307,692 308,340 A 648
01 A& HI 300,000 300,000 0
OAOIEEE 43 A 300,000,000& 14 300,000
02 Zeltl 6,180 6,180 0
ONOIEEE =L IAM
300,000,000& *2.06/100 6,180
03 Al 2 0HHI 1,512 2,160 A 648
OAIZ =TI 1,512,000& 14 1,512
S&4s MEHSHI 29 10,000 100,000 A 90,000
401 Al HIZ 201 Y] 10,000 0 10,000
01 A& HI 10,000 0 10,000
OR4s ANUHMSEHI KX 2l
10,000, 000& 14! 10,000
EHEOFRE & QUUQNAHOER =4 803,528 1,000,000 N 196,472
X 240,000
< 112,000
Al 451,528
401 Al HIZ 201 I 803,528 1,000,000 AN 196,472
X 240,000
< 112,000
Al 451,528
01 A& HI 800,000 993,700 A 193,700
OEHEOITE L QA AHOER X4
800,000,000 =14 800,000
X 240,000
< 112,000
Al 448,000




2N

X ZH
S =

CHSEAMEE

el

A2 S Dt
=
A

d

MEHNSALESSE

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 Al S THHI 3,528 6,300 N2, 772
OEHEOF2E & QA AINOESE =d A4
Sl 3,528,000 » 14! 3,528
BHES AOESE B SAM 50,000 0 50,000
= 25,000
Al 25,000
401 A& HIZ 201 Y] 50,000 0 50,000
< 25,000
Al 25,000
01 A& HI 50,000 0 50,000
OHZES HOESE 2 ZA
50,000,000& =14 50,000
< 25,000
Al 25,000
PUES HEHE BHYAME EXSA 201,008 0 201,008
< 100,000
Al 101,008
401 Al HIZ 201 I 201,008 0 201,008
S 100,000
Al 101,008
01 A& HI 200,000 0 200,000
ORUs MEHs HoAALE X2 AM
200,000,000& 14! 200,000
< 100,000
Al 100,000
03 A& S THHI 1,008 0 1,008
OAl &S HHI 1,008,000 * 1Al 1,008
RUS MEHNSSE W 52 =4 201,008 0 201,008
< 100,000
Al 101,008
401 AIEHI L 2 CHYI 201,008 0 201,008
< 100,000
Al 101,008
01 A& HI 200,000 0 200,000
SUE MEBISZAU ZTH T4
200,000,000& 14 200,000
< 100,000
Al 100,000
03 A& 2 THHI 1,008 0 1,008
OAIZ 2 THHI 1,008,000& 14 1,008
A2Z2H HOEESE =4 143,870 0 143,870
< 70,000
Al 73,870
401 Al HI K 201 I 143,870 0 143,870
< 70,000
Al 73,870




AN AZHSD
M HMESALES
e MEHSALEHS
SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 140,000 0 140,000
Oa2=xH HNOIEEZEH =4 140,000, 000& * 14 140,000
= 70,000
Al 70,000
02 Zteltl 3,164 0 3,164
OZeltl 140,000,000& *2.26/100 3,164
03 Al =2 THHI 706 0 706
OAIZ 2 HI 706,000& » 14! 706
SUMSANEES 315,512 316,160 A 648
SUXSAE 4X & S22 315,512 316, 160 A 648
201 et 14,000 14,000 0
01 At 22l 4,000 4,000 0
O1 ept=ZH 4,000
PESUMSALE 228 25 ¥
4,000, 0003 =14 4,000
02 =224l 10,000 10,000 0
O1 22232 Z HMA 10,000
DSUMSAE 323 10,000, 000& * 14! 10,000
401 A& HI K 201 I 301,512 302,160 A 648
01 Al&HI 300,000 300,000 0
OSUMSAE 8% % 24
300,000,000& 14 300,000
03 A& 2 THHI 1,512 2,160 A 648
OAIZ =TI 1,512,000& » 14 1,512
2015 AL M=Ea &l 1,679,403 1,528,350 151,053
< 1,500,000
Al 179,403
2015 ZRAESOMSEUE OH MSAME HE> 1,679,403 1,528,350 151,053
= 1,500,000
Al 179,403
401 Al HIZ 201 Y] 1,679,403 1,528,350 151,053
= 1,500,000
Al 179,403
01 A& HI 1,650,000 1,528,350 121,650
02015 2 CUMSUIIUE MSAE HE=>
1,650,000,000& 14 1,650,000
< 1,500,000
Al 150,000
02 2feldl 25,245 0 25,245
O&eltl 1,650,000,000& *1.53/100 25,245
03 Al 20 HI 4,158 0 4,158
OAIE S THHI 4,158,000 * 14! 4,158




M AIHF
L

M HSANLHS

G2 2015 A=2HMEUHH MAIE HE S (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
2015 M=2HAEHH MSAIE MES 400,000 0 400,000
J| 120,000
& 84,000
Al 196,000
2015 =2 M AEUH HMSAIE HES 400,000 0 400,000
J| 120,000
&< 84,000
Al 196,000
401 AlEHIZL 2 0HY| 400,000 0 400,000
J| 120,000
& 84,000
Al 196,000
01 Al&H| 400,000 0 400,000
BHds2 24 200,000,000 «1A! 200,000
J| 60,000
o= 42,000
Al 98,000
OXNAM=2 AIEINE % 200,000,000 x4l 200,000
J| 60,000
= 42,000
Al 98,000
H503 ZRZOAH=UHS OHA 2,258,000 0 2,258,000
K508 ZREZ0H=UE M= 2,158,000 0 2,158,000
201 gBt24Ay| 3,000 0 3,000
01 AP 22| H| 3,000 0 3,000
O5 4| 3,000
DEOIHAE =H A =AY
3,000,000& x14l 3,000
202 04| 15,000 0 15,000
01 2Ll 15,000 0 15,000
OFHAE g2 =X 15,000, 000 » 1Al 15,000
307 QI2t0| ™ 2,140,000 0 2,140,000
04 CIZ2tSHALALS B X 2,140,000 0 2,140,000
OHMB03 LRATOHNSUWSE ME
2,000,000,000& «1A! 2,000,000
OMEIIIE St AF X & 140,000,000 = 14! 140,000
2RO MEN U A 100,000 0 100,000
307 2Iz2to| & 100,000 0 100,000
04 SIZ2HSHAAISHE E & 100,000 0 100,000
OZLJAFHMNAMEH U HE
100,000, 000& = 14! 100,000
HESAAY (HLHMSH) 84,166 73,381 10,785
OlESAY|(HZ M) 48,222 39,393 8,829




AN AZHSD
M HY2IAZH (AL HS)
Crel: o2yl (LA D) (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ol 2AH| 48,222 39,393 8,829
101 @124 dl 48,222 39,393 8,829
01 2= 48,222 39,393 8,829
OAt 2% 8,930 x1821%x300A| 2t 48,222
Jl2dd(AZH=s) 35,944 33,988 1,956
JlE2&l 35,944 33,988 1,956
201 L2l 24,280 23,524 756
01 At 2t 2l 20,544 19,788 756
O1 get==EH| 16,008
DEANSYE I2SH(SAXL 158)
14,508,000 * 14 14,508
Delold Z8IHI EW, EY
300,000 504 1,500
O5 =&l 4,536
DO - 52422 7,000 «1821+33| 12 4,536
02 2324l 3,736 3,736 0
O1 3322 ¥ HA 2,736
DRERS 1,900 x12021 «12& 2,736
O3 A&l |Xdl 1,000
> S A S Xl 500,000& »10H »22] 1,000
202 044l 7,464 7,464 0
01 = LH o4 1l 7,464 7,464 0
OJleg =80t 622,000& 128 7,464
203 ¥ S =&l 4,200 3,000 1,200
04 FNSEHR=LH 4,200 3,000 1,200
ORN2EYS =2 350,000 »12& 4,200




